		F THE TOHONO O'ODHAM LEGISLATIVE COUNCIL Chairman Listo in Declaring December 1, 1993 National
1		A Day of O'odham Thought and Discussion about the Human Immunodeficiency Virus, HIV)
2		
3		RESOLUTION NO. <u>93-437</u>
4	WHEREAS, on	November 19, 1993, the Tohono O'odham Legislative
5	Со	uncil conducted a presentation on the subject of HIV and
6	AI	DS; and
8	WHEREAS, the	Council heard testimony presented by representatives from
9	the	Health, Education and Executive Departments; and
10		
11		Council reviewed the Final Report of the National
12	Co	mmission on AIDS, AIDS An Expanding Tragedy; and
13	WHEREAS, the	e first recommendation of the Final Report is "Leaders at all
14 15	lev	els must speak out about AIDS to their constituencies"; and
16	WHEREAS, as	elected officials, we are convinced that a clear and present
17	da	nger to our public health in the form of HIV disease, exists
18 19	ll in	our communities now; and
20	11	e agree with the National Commission on AIDS that leaders
21	at	all levels must speak out about HIV.
2 2	211	
2 3	'	ORE, BE IT RESOLVED, we, by unanimous action, declare
24	ı D	ecember 1, 1993, National AIDS Day: A Day of O'odham
2 5	<u> </u>	hought and Discussion about HIV Disease.
26	DE TE EUDTHE	R RESOLVED we the Tohono O'odham Legislative Council
27 28	' []	rge all O'odham to attend the HIV and AIDS Community
	<u>"</u>	

(Joining with Chairman Listo in Declaring December 1, 1993 National AIDS Day: A Day of O'odham Thought and Discussion 1 about the Human Immunodeficiency Virus, HIV) 2 Page 2 of 4 3 Education Meeting to be held at Baboquivari High School at 4 5 4:00 p.m. 6 BE IT FURTHER RESOLVED, we urge open and frank discussion about HIV 7 disease at all levels: in the villages, communities, districts, 8 schools, churches, among our elders and traditional healers, 9 10 among our young, in the Nation's offices, in association 11 meetings and everywhere we come together as a Nation. 12 BE IT FURTHER RESOLVED, we find that: 13 We must act now to educate ourselves and our 14 1. 15 communities about HIV disease; and 16 We must reach out with compassion to those among us 17 2. 18 suffering from this terrible sickness. 19 20 The foregoing Resolution was passed by the Tohono O'Odham Legislative 21 Council on the 24TH. day of NOVEMBER, 1993 at a meeting at which a 22 quorum was present with a vote of 1,763.0 FOR; -0- AGAINST; -0- NOT VOTING; and 07 ABSENT, pursuant to the powers vested in the Council by **2**3 Section 1(c)(2) of Article VI of the Constitution of the Tohono O'Odham 24 Nation, adopted by the Tohono O'Odham Nation on January 18, 1986; and approved by the Acting Deputy Assistant Secretary - Indian Affairs **2**5 (Operations) on March 6, 1986, pursuant to Section 16 of the Act of June 18, 26 1934 (48 Stat. 984). 27

RESOLUTION NO. 93-437

28

	RESOLUTION NO. <u>93-437</u> (Joining with Chairman Listo in Declaring December 1, 1993					
1	National AIDS Day: A Day of O'odham Thought and Discussion					
2	about the Human Immunodeficiency Virus, HIV) Page 3 of 4					
- 11	A age J VI 7					
3	TOHONO O'ODHAM LEGISLATIVE COUNCIL					
4						
5						
	Clay Kaman					
7	Alex J. Ramon, Legislative Chairman					
8	24th day of November, 1993					
9						
10	ATTEST					
11	francisco de la companya del companya de la companya del companya de la companya					
12	Torosa M Chovguha, 1489181ative Secretary					
13	24 to day of November, 19 93.					
14						
15	Said Resolution was submitted for approval to the office of the Chairman of					
16	the Tohono O'Odham Nation on the Att day of November, 1943 at o'clock,M., pursuant to the provisions of Section 5 of					
17	Article VII of the Constitution and will become effective upon his approval or					
18	upon his failure to either approve or disapprove it within 48 hours of					
19	submittal.					
20	TOHONO O'ODHAM LEGISLATIVE COUNCIL					
21						
22	Alex J. Ramon, Legislative Chairman					
2 3	1					
24	[] APPROVED on the 30 day of Movember, 1993 [] DISAPPROVED) at 2'.47 o'clock, 2.M.					
2 5	DISAPPROVED) at 2:47 o'clock, .M.					
26						
27	SYLVESTER LISTO, Chairman					
28	II — —— OPEN OF ONTE A REAL AND AND INCOME.					
	11					

1	RESOLUTION NO. <u>93-437</u> (Joining with Chairman Listo in Declaring December 1, 1993 National AIDS Day: A Day of O'odham Thought and Discussion
2	about the Human Immunodeficiency Virus, HIV) Page 4 of 4
3	
4	Returned to the Legislative Secretary on the 30th day of Movember.
5	19_93, at 3.45 _o'clock, 2.4 .M.
6	
7	Teresa M. Choyguha, Legislative Secretary
8	Teresa W. Choyguna, Legislagre Secretary
9	
10	
11	
12	
13	
14	
15	
16	
17	
18	
19	
20	
21 22	
23	1 *}
24	
25 25	
26	
27	
28	

ACTION: JOINING WITH CHAIRMAN LISTO IN DECLARING DECEMBER 1, 1993 NATIONAL AIDS DAY: A DAY

OF O'ODHAM THOUGHT AND DISCUSSION ABOUT THE HUMAN IMMUNODEFICIENCY VIRUS, HIV

MOVED: COUNCILMAN WILLARD ANITA

SECOND: COUNCILMAN KENNETH WILLIAMS

DATE: NOVEMBER 24, 1993

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
SIF OIDAK 151.0	i. WILLARD JUAN, SR. (Delbert Thomas)	75.5	х			
	2. MARY ANN ANTONE (Nellie Miguel)	75.5	x			x
SELLS 290.0	ANDREW M. PATRICIO (Lucille Encinas)	145.0	x			
250.0	2. JOSEPH T. JOAQUIN (Allen W. Garica, Jr.)	145.0	x			Х
SCHUK TOAK	FRANCES FRANCISCO ()	56.5	х			х
113.0	2. KENNETH J. ANTONE ()	56.5	x			
SAN XAVIER	1. EUGENE ENIS, SR.	67.5	х			x
135.0	2. DENNIS RAMON ()	67.5	х			
BABOQUIVARI	FRANCES MIGUEL ()	115.0	x		!	
230.0	2. EARL A. FRANCISCO (Lucilda Norris)	115.0	х			
GU ACHI	1. WILLARD ANITA	90.0	Х			
180.0	2. ALEX J. RAMON (Marian Johnson)	90.0	х		· · · · · · · · · · · · · · · · · · ·	
PISINEMO 128.0	CHESTER ANTONE (Fernando Valentine)	64.0	х			
120.0	2. JOHNSON M. JOSE (Roseleen Antone)	64.0	x	<u> </u>		<u> </u>
SAN LUCY	1. JOHN RENO	49.0	x			
98.0	2. ALBERT MANUEL, JR. (Ernestine Marquez)	49.0	x			х
GU VO	1. EMILIO LEWIS	62.0	х			
124.0	2. MICHAEL FLORES (Fern Salcido)	62.0	х			х
HICKIWAN	MANUEL OSEQUEDA, JR. ()	68.0	х			х
136.0	2. LLOYD FRANCISCO (Henry A. Ramon)	68.0	x			
CHUKUT KUK 178.0	ALBERTA M. LOPEZ (Berdella Jose)	89.0	x			
1/0.0	2. KENNETH WILLIAMS ()	89.0	х			x
	TOTAL	1,763.0	1,763.0	-0-	-0-	08